SIMPLE RATI0 And RE<IPES | TRANSCRIPT

E,La.mp\e. | - Sa'mplﬂ.. Ratio

Tack and Kevin share. 28 sweebs in Ehe ratio 4:3

respec bively, How mank sweekbs dees each bey receive /

Tobal gweebs = 28

-

Tota| shares 4 +3 = Zghasres

So ) < hav eg

= 2& sneets
| ¢hare = 28 4- Sweeks
~ 7
Tack recewves A4 x4 = 16 gueeks
Kevin tecewes I xd = 12 Sueekg

Exahr(c 2. - Sc.hn’?(( Rebio

Alan, 8\” and Colin Sshave éZO iR the ratio 533 2 re:locd‘ivelj.

How much cloes each 693 receive 7

20 represents S+3+2 = 10shaceg

| share = La0 - é'z_

io

Alan  receives Sx£t2 = £io
Bill receives Itz = £6
Colin

receives 2 x £2

= £4
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Examplt. 3 - Su’mP(e. Ratia

Brass is made €rom Co'o'ae./ ard Zine i Ehe ratio §:3,
How much Brags could be made Uthﬁ 406 of Qpper)

and how much Zine would be needed ?
Cofﬁef‘ 406 re.prcsenfi S_—PAI(:Q

So | Pur& = _4_-_?_3 - 83
Y
Beass = §+3 = 8 parks
¥ parts = B x 84 = 443
Se é4—t‘ o€ Rrags |

Z;-—s¢ - '3 Pa.fe.(
3 (:MGS = 3 x 85 = 243
So 24-3 of Zih? Y‘e-dl/uwed

EX«MP'&A— - S,‘»\Pk‘, Ratio

The rakio o€ M«\-cs Eo ‘Ccmtes n o Gum hcmbclsk,'p
Is 724, If thee are 32 female h\Ade() Thow W\Anj

male member¢ are Ehere ?




®

SIMPLE RATIO AND RECIPES | T RANSCR\PT

22 €ermales rc.ores-th'l:s 4- P../és
[ part = 32 = & Pe.p'ola
P 4 ‘
Males ave 7 qufs = Ix8 = €§¢ ,oe.fle_,

So S§6 rmule memberg

E vawm Ple. § - Recipes

Froit pie ,'nﬁrul(mé-: For 4 people ave ag £ollows:
X0 4 p lain € lous
§0q grouad almondg
¢|o‘3 §o€t brewn Sogarl
604 butter
4 ripe pewxss
What ingrediests are vequired for & peeple ?

For |P</$on heed & <4
Then for A r)e,o()le. need €to x b

o X —:—: which cancels & X %—_

§0 + 2 = 40 40K3 12.03 of plm-\ Lisur

60 2 = 0 20x QOS of Qroum! almonds

40 =2 = 4§ 4Sx3 = 1384 of Soft brown Suger

L0 22 =30  36x3 "103 of butter




&

SIMPLE RATIO ANY RECIPES TRANSCR AT

4 =2 T 2 2x3 T 6 ripe peass

Altermtbively, e could Euke Ele view Chut

é Peof'( ;‘ Ore oHnmd o L\al-( Io‘('S Q‘P4Pe¢f‘<

and Su;f‘ add halt of each q{ucm{’il*\] to Ele or‘csq-,q,l

amouné o'@ (:k..é— ﬁ/ul\n"-‘?éj to -Fl'v'w( tl\t f&%u’ireo(
Ih%feolllnév;‘

Se

i

805 £love o+ 40 IZOj glouf

(,Oj ﬁmu;dhi(manS .éo+3°

0

qu] aln\ond;
90 g Sod £ brown Soges 40+ 4§

= 'ZS.‘A Sugas

) 4 hotter LO+30 = 0 4 Lotter

4  ripe pewrs 4 2 T 6 ripe pears
E’XlanP\Q & — Redpeg

C hocolate Cl«[p Coohkies - Imarad ienks €or |0 cookies:

1004 ot €lour

c,oﬁ ok Sugar

$0 ¢ af Marqarine

4-043 of chocolake chipg
L eyqs |

W hak insfe.ditnf$ are Fect'ufrea( £or 245 wakies?
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for |  coskie we reed Eo =10

then Lor 25 cookiel we need & x 2§

Se X 2§ which  cancels &2 x §

p—

! ‘ 2

100 =2 =§0 o x§

h

Zs-Oj of €laur

"

66 32 =3  oxg 1§ 0q of (uaar

W

o T2 T 2§  26x§ 1284 of margarine

4o 22 526 20xF€ 160¢  of chocolate chips

|

2 32 =\ | v € § 2445

Alt(/hu't'l\le"b\) we covld consider Ehat 2§ g
Evwo and a hal€ lebs of |0,

We covld Ehen E€iad Ehe }nsrcﬁﬂ't—»(‘s b3 doub“nj

eacl\ ALUAhL;‘("l and a&’o“n? L\a"F t‘\e. Ofiﬁ'tm( a.moun‘:
te 1t |

1004 €lowr > 200458 = 206g Llovr
605 Sos&/‘ - |20 + 30 = IS0 5 Susw
$o & marqaling -2 100 +2¢ = D-S‘j marga, fine

"

40% choce &Lu'f:s - Y0 +20 '003 ¢choc CJ\ipc

2 eqqs -2 4 + | = § eqgss

BQH‘\ me;biwk{i SLDU‘A a?ve b‘\& Same anfwér

)
T




